M)

ol
Ho

SO\,

o0
00

=
=X

K

R0
m
[0
J]

|
[

=

ok
ol
rr
H

)

L=

| 2022

r

__Oﬂ
il
Zl

!

Efolct,

l
=

P

ol
—

=

3.

oM

oM
ol

H(s)="V,(s)/V(s)2

—

—

tCh

—

S

2| o

=

=

SR

olulel B35 X, CB
35 %

—

oA CC T%719 =€dadxrt 7hd A

sR
s’ +s/RC+1/LC
s?/LC
s*+s/RC+1/LC
A2? (K{7|M CE
Hiola 2& HX|l a2/ CCe & H
D CE +3%71¢] 45 dwuyg A
=

2

25
o
%

s> +s/RC+1/LC
s*+s/RC+1/LC
s’ +s/RC+1/LC

X 2o a2l 2REE

g

X
=

s
@ Al FZ7

jur §
o

4.

M

ol
HO

Kd

20| &

—_

—

= gedo] 1 = o0t

27t A& W MS=|

Ig

|20|Ct AEE Clo|2=EE2 0

v, > Vyolch)

k=1

= N,/ V;) 2l 2422

| AMH|(n

ol

ol
—
E2]

ol
oF
o
ol
%0

_14_

N1 N,

Rg

D 15
@5
® 1/25
@ 25
®1




| 2022 E RSIARH AIB 92 ZHZHHSAIE | | B2 |
5. oS 8|2 9)& 8 SIS Z& 0| 835104 &2 b)et Zo| HYsSIHLE | 7. cf2 329 #HL
wH Sy} MY ME I, 57t M8 R, 231 R0l 52 ®E
Lol #2? (7IM, V, =2V, V,=3V, R, =200, R, =300
a2l R, =810|c})
a
.
R
B30 Vin
L
a a’ )
a) b)
7, R, l L2
T
@ 0.0484 1202 0.0062A4
T
@  -0.0484 5002 ~0.00624 @ 100 #=
® 0.24 1202 0.124 g 200
@ 0.14 5002 0.01394 B
® -0.14 5042 -0.01394 T
© 100Hz
6. Ct3 3 2o cfst udA mafojeel dHAoR 82 H2? 8. Ci2 3 2&= g=Xetol 3.3vel MY clo|*EE ZEHsH 3 Zo|ct
HE 7vel Aleluzt gsE 29, &Y MY V0 @yoz
I 20 20 L T 2 Vour
= AAA = 2 A2? (&Wek clo|2E M2 0.7VE JH™ Sl
+ +
Vi —jal —— V2
[(2—j4) 4]
v L —A J2]
[(2—j4) —j4]
2 —j4 —j2]
[(2+54) 4]
& E J2]
[(2+74)  j4]
v L g4 — 2]
® [(2+74) 4] ®
L —74 J2]
®

_15_



L5

| 2022

ST 2FAIRH Al 92 ZHLMIEAE ’ M=
9. CiS S|2ollM 20 Mg MYst7| 2t Bst 7, U422 g2 1. C}3 3| 2= AMSEI| S8 s|2EE LIEHH ZAolct &8 V9
A=Y, EHASR g2 He?
j20  6/0°V C
O ”
l R
V.
4/30°A 4Q /[ -ji2Q | Z, 1 Vo
dv.
D V,= —RC—
O 12 [Q] dt
_: dv.
@1][9] @V(]:Rcdtl
31 [Q]
@ 14 [] <D%——R0/mﬁ
® 142 [Q] X
<D%:§5fmﬁ
® V=55V
10. S 8l2oilM 23 A5 Vine T3 Mot V,0l3 Faigfol
Afolmpel mf &8 M Voure miEoz 228 A27 (4
CRL»lE 7+d gtot) _
f 12, ctS 3 2ol M npn EMX|AE|C B=100 ol=2tm & unff, 2| & of
c s2g ®F Lo #27? (Hol2-oo|E Turn on Mgte 0.7VE
i} v O Vou 7Hd gto})
§ +15V
3A |
100kQ 1kQ
= = Ve = llc
@ 411 mA
@ 5.11 mA
@ 611 mA
@ 7.11 mA
® 811 mA

_16_



14.

15.

cD | CD CD CD
AB 1 1
AB 1 1
AB
AB 1 1
@ AD
@ ABC
® AD+ABC
@ AB+ CD
® AB+ BD

ClS =Cl3 2o &8 CE 82 A2?
T
il_i‘*:

@O A®B
@ A®B
@ AB

@ A+B
©® A+B

O Cc=AB
@ C=A+B
® C=A4B
@ Cc=A+B
® = ADB

16. ofS 8|2& olay el AMSETI(olch SM22M SX &

rlo
N
rlo
~

o — LS

r +

—

vt

ARREE I CERVENOE RPN JEE - E 1o
<

D 12 Vs BAgel B9 2gs

@ 7 el weh v, <00l HE 77 wheA] Z7e) drk
® v, b Hadtl b 2eAE ol~ fito] duka] Hu

1.7F A28 ok

_17_



M)

ol
Ho

SO\,

o0
00

=
=X

K

R0
m
[0
J]

|
[

g

ok
ol
rr
H

g

L=

| 2022

U
110

X

M

18. OIS AS2 AMAAE e 7| Zot X7 J2(3 MF %

oM

ol
of

I

7| HEl, B

.I

(047|M, B= ®7|&te]| M| HE],

M

T dEoln, p

al
=

=
K'IT

l

AL 2x e, Js

—
—

st rolct)

oM

oM
of

wlr

Xo

5

ﬂ_mo
o

i
B

ir

o]
Hr

B
X

X

® #A% Azge Pyl ket )

20. 3GHz F b2 MAtntyt =

o

-

A
=

_18_

2 A9 342 20emolth
L2 Agsm 3442 5emelth.

© 0.5¢,° FE2 AvpE™ 32 20em o]t

4=
==
Ead

@ 0.5¢,°1 2 AupEm gL 5emolth

c,= 3 X 10"%m/satz o)

@® 2009]
@ 2009]




